SW-TB

Towbar spare wheel holder

www.ximplio.eu

XIMPLIO sp. z 0. 0.

ul. Koniawska 11

PL 66-400 Gorzéw Wielkopolski
info@ximplio.eu



http://www.ximplio.eu/
mailto:info@ximplio.eu

FTR-Coupling | FTR-Tilting | FTR-Rapid
| Q‘“ﬁ?ﬁ“ﬁm M6x25 DIN 7380 10.9 - - 2x
) M8x25 DIN 7380 10.9 4x 4x 4x
M10x60 DIN 7991 10.9 3x 3x 3x
\ M16x1.5x70 DIN 96110.9 | 1x 1x -
5 ~ M6 DIN 125 - - 2x
6 LY M8 DIN 125 4x 4x 4x
7 - M10 DIN 125 3x 3x 3x
8 M6 DIN 985 10.9 - - 2x
9 M8 DIN 985 10.9 4x 4x 4x
10 M10 DIN 985 10.9 3x 3x 3x
11 3x 3x 3x
12 - 1x 1x
13 - - 1x
14 1x - -
16 (B i i 1x
17 ;\% 1x 1x 1x
18 << /‘_ l 1x 1x 1x
19 1x 1x 1x

www.ximplio.eu
XIMPLIO sp. z 0. 0.
ul. Koniawska 11

PL 66-400 Gorzéw Wielkopolski

info@ximplio.eu



http://www.ximplio.eu/
mailto:info@ximplio.eu

@#

—{)

&XIMPLIO

www.ximplio.eu

XIMPLIO sp. z 0. 0.

ul. Koniawska 11

PL 66-400 Gorzéw Wielkopolski
info@ximplio.eu



http://www.ximplio.eu/
mailto:info@ximplio.eu

FTR-Coupling

14 1x
4 M16x1.5x70 DIN961 10.9 1x
2 M8x25 DIN7380 10.9 4x
6 M8 DIN 125 4x
9 M8 DIN 985 10.9 4x

M16x1.5x70 DIN961 10.9
M8x25 DIN7380 10.9
M8 DIN 125
M8 DIN 985 10.9

www.ximplio.eu

XIMPLIO sp. z 0. 0.

ul. Koniawska 11

PL 66-400 Gorzéw Wielkopolski
info@ximplio.eu



http://www.ximplio.eu/
mailto:info@ximplio.eu

FTR-Rapid

16 1x
M8x25 DIN7380 10.9 4x

M8 DIN 125 4x

M8 DIN 985 10.9 4x

1 M6x25 DIN 7380 10.9 2x
5 M6x25 DIN 125 2x
13 | 1x 8 M#6x25 DIN 985 10.9 2x

www.ximplio.eu

XIMPLIO sp. z 0. 0.

ul. Koniawska 11

PL 66-400 Gorzéw Wielkopolski
info@ximplio.eu



http://www.ximplio.eu/
mailto:info@ximplio.eu

Sgdv-

=1 |

= 1l

3 M10x60 DIN 7991 10.9 3x
7 M10 DIN 125 3x
10 M10 DIN 985 10.9 3x

www.ximplio.eu

XIMPLIO sp. z 0. 0.

ul. Koniawska 11

PL 66-400 Gorzéw Wielkopolski
info@ximplio.eu



http://www.ximplio.eu/
mailto:info@ximplio.eu

